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5[ 9]
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435 IR A 3 (BT -5 %) 10. 93
496°F - K 3 Gl B ) 11,43
84T F M KME 3 (BAZRH-%E)11.52
2614 3 B W2 (IBBT-5E)11. 56
834 F B K3 (BRRX—H-HE)11. 71
6024 H U &% 3 CRERH-HE)11.75
6033 A Bk EL 3 (RERT-EE)11.90
260K 76 %t 2 (IR F-5E)11. 95
927=% BT ¥R A 3 (Er BT -5E) Ri5
( +3.7 m)

b H & K3 (BloomP]THE)11.63
8484t v8  HB Fn 3 (EA-RH-HE)11. 69

44+ M2 (BloomP]T5E)11.74
3374 I Mg A2 (HRAEIE-5E)11.78
364K (L 2 HE 3 (FEF—H-5%)11.95
2515 78 UR b 3 (AEH -5 E)12. 04
604 1F [ 3# b 3 CRERF-HE)12. 41
886 %2 [ ik 3 (fTHF-# %) 12. 56
2541 W E 3 (AEF -8 E) R
(  +2.1
29315 &
863 — B4
3188F O
83875 ik

28 5E K
8961~ JI:
525 ]
854 %% J5T
47375 Kk
( -0.5
328°H + J&. 3 3 (HRAE)IH-5E)12. 25

294 1 AN OME 2 (FEE-P5E)12.29
833 A A3 (BRR—H-5E)12.42
3165 HE K BHF 2 (BERART-%E)12. 53
2390 #B5 Sk 3 (I E5E) 12, 62
2641 A E 3 GFEERHE)12.77
2670 B P A 3 GREEER-5E)12. 77
931/ =] f A 3 (ByRiEH%%)12.80
894K fH 5 k2 (UTHH-H£)12. 98
( +2.2 m)

993 A Ay 22 2 (L)Id-5%)12. 31

4288 W ThoBE 3 (AP -55E)12.57
8684 I & F 2 (R)ImT-5%5%)12. 64
536/ F  H K3 (LERP-5%E)12. 65
20001l B 27K 2 (RAIEE -5 E)12. 83
31555 B 1K B 2 (BEARAT-BT) RIS
878} Iy 2t 2 (RIMT -5 F) Ri5
14 H — K 3 (BEARATBT) RIS

(FAIERED %) 11. 69
()l g% E) 12, 14
(I%%?fﬁ 5112, 14
(B —-#%)12. 25
(ﬁﬁﬁi% fe£) 12. 52
(ATHF-EE)12. 56
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1[ 3]
2[ 5]
3[ 6]
47 7]
5[ 4]
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8[ 1]
[ 9]
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1[ 3]
2[ 5]
3[ 7]
4[ 2]
5[ 9]
6 1]
70 6]
8[ 8]
[ 4]
[64H)
1[ 5]
20 1]
3[ 6]
4 8]
5[0 3]
6 2]
70 4]
8[ 9]
[ 7]
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1[ 5]
2[ 2]
3[ 6]
4[ 4]
5[ 3]
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70 7]
8[ 9]
9[ 1]
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1[0 7]
2[ 5]
3[ 2]
4[ 8]
5[ 4]
6[ 9]
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8[ 6]

( -0.8 m)
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( 0.3 m)

8714 M ME B2 2 (R)IMMT-5HE) 11,
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( +0.9 m)
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kAR 3 (BT R ) 12,
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= 3 GRFAES - 3%E)12.
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BEOK 3 (LRAEH-HE)12.
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214 1 =43 WEF-—T-55)12.
926 ¥R Mt K 3 (By BET-HE)12.
2341 )= Skt 2 (Rl BE) 12
9425 1% 52 K 2 (RAMEH-5E)12.
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87
89
89
01
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14
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84
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12
33
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45
47
11

20077 P9 HE A 2 (BT -5 E) Ri5

( +1.2 m)
349 8F 3B
732%% i

49278
865411 H:
72474 H4
997 L1

0.0 m)
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3937L JH
514 |5
8708 H
8674%
876 /N sr4y B 2

248 H

& B3 (JERY -8 E) 12,
f& A4 3 (ERELATHE) 12,

505 AR KT 2 (RAJIAT 5E)12.
53475 & 3 (LRMEP-HE)12.
2521k 2 K HEE 2 (RNEF B E)12.
# O 2 ORdb-£5E) 12,
ME £ 3 M-85 E) 12.
A2 (HRA-EE)S.
— B 3 (EART-HE)13.

BE 2 3 (B BEH-5%)12.

B2 (FRES. C-HE)12.
B2 (RBJIAT5E) 12,
e 2 (s 5E)13.
55 2 ()% 313,
(I 5 %) 13.
49th W A& A 2 (RB)IAH-5HE)13.
B A 2 KEH 5B E)13.
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68
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12
81
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10
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14
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11
12
13
24
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(1148] (

1[ 4]
2[ 2]
2[ 6]
4[ 5]
5[ 8]
6[ 3]
70 9]
[ 7]

(13#8] (

1[ 5]
2[ 8]
3[ 7]
41 6]
5[ 3]
60 9]
10 4]

[ 2]

(1548] (

1[ 6]
2[ 9]
3[ 4]
4[ 5]
5[0 7]
6[ 8]
70 2]
8[ 3]
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0.0 m)

500 &K JI)11 9Lk 3 GRdbr - £ £)12. 36
63171 SEAES 3 (iP5 E)12. 87
837N H WBE 3 (R—H-5E)12. 87
A7) A K 2 (g -5%)13. 21
4797 BF B b2 By BET-5E)13.27
841AR M 2 (BR—H-5%%)13.29
213 # R 2 GFHEEH-5E)13. 47
248 N 2 FEF-F-5E) RiF
-1.6 m)

843% & = N2 (BR—H-5%%)13.26
A4 K B R 3y BH-5E)13.29
0 A HE A2 (HEF-T-1455)13.47
2979 2B 2 (FAMEET5E)13. 54
490LF B M 2 (b -HiE) 14,02
69945 (I £ K1 (CORSA#%E)14.53
250 R M2 (REFR -HE)14.92
ME R F Ak 2 (BT E) RI5

+0.8 m)

AVIAAS Bikmik 2 Gldb - £) 12. 68
327TARH EAES 3 (HERE)IH-%5%)12.85
849%5 K % 3 (EA-LHR%%)13.18
499 1 Mt H BE 3 GdbH ¥ E)13.75
392 XN JHEER 3 (%ES. C-5E)13.90
107% B B5KE 2 OMIEF-5E)13.92
1FE JH TH2 (HEF—h-mE)14.21
869FL =] K A2 (RIMsT-%5%E)14. 46

W2 (g -F ) 11.

g B 3 (R IERET -5 k) 11.

BF 100m kB (264)

(1#8]
1[ 5]
2[ 1]
3[ 8]
41 9]
5[ 6]
[ 2]
[ 3]
[ 4]
[ 7]

( -1.6
153 T I8 #e 4 (B K-RE5)10. 87
778% & W1 (KEUK-EES)10.98
8027 11 Al A 1 (e K- Kik)10. 99
753K &8 fiE N 4 (RIEK-EE)11.06
TI36 F& ® B 1 (KEK-BE)11.14
750 & T 1 (RIEK-E5iR) Ri5
T4RE & P& K 4 (BiEK T RIS
1417V HRE <A 7V 3 (BiAK-BE)) i85
T5TEE I B 4 (KBK KR &5
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M2 Ay 3 (I -5 £) 10. 93 +2.
496 £ K3 (db - B E) 11,
84T P RE 3 (A=A -HE)11.
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13348 B EE K3 (RAELRY-HE) 11
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69 +2.
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(1248] (

1[ 6]
20 7]
3[ 2]
41 9]
5[0 3]
6 4]
70 8]
[ 5]

(14481 (

1[ 5]
2[ 3]
3[ 6]
47 9]
5[ 4]
60 7]
70 8]
8[ 2]

(1648] (

1[0 7]
2[ 8]
3[ 3]
4 6]
5[ 4]
6 2]
[ 5]
[ 9]

[2#8]
1[ 2]
2[ 3]
3[ 6]
41 4]
5[ 8]
6[ 1]
70 9]
7[ 5]
9[ 7]

-0.6
634 |
642 3L 111
307 X HE
2404 JF
495 14 ik
49370 H
30148 W
632 Kk &

m)

B X3 (f)1 - 25 ) 12. 96
B2 (M) -55E)13. 14
A3 (BT -55£)13. 21
f& B3 (B)IH -5 %) 13. 29
K 3 (b -5 %) 13. 52
&2 b - #%)13. 83
B 72 2 (FAERET-5%%)13. 85
& B3 (f)I| - B F) Ri5
-0.7 m)

835 M & 3 (X —H-H%)13.
928 & B w2} 3 (Ey BiET-5E)13.
836111 1 BRIk 3 (B —H-HE)13.
639/ A BE N2 (Ff)I - 55 ) 13.
48048 M K4 2 (B BB E)13.
842%% 75 & H 2 (BR—F-5%)13.74
6374  E ZE 3 (I -£5E) 14. 38
200 F — 1H2 (REP-HE)14. 41
+0.4 m)

6384 A A 2 ()T -5 %) 13. 30
815 K FK2 By Eh-#5E)14.15
488/ 1B KEA 2 Oidb - 2 E) 14. 46
487K M ¥ 2 2 Ofdedh- B E)14. 66
4899 A fE B 2 (b - ¥ E) 14. 68
235K A& B5 =k 2 (7))l -£5%)15. 30
T8 T k2 RERRET-HE) R1B
3907 i A K 2 (FEH -8 ) Ri5

26
21
38
53
63

( -1.4 m)

7790 H O Sk 3 CRIEK-#%)10. 93
145 551 KRR 4 (BBH k- =%)10. 95
18K 0 F 4 (B%K-#55)11.00
402 H Fn+ (UNITE-#%)11.02
383 F # wA A (ASAP-®%)11.02
T16F A 7251 (KEK-REAR)11.06
22/ VR 2 (BESE K- RERS) 11,10
703B 0 K ME (BTP-ZAH)11.10
794%E B OFE A1 GElER-EE)11.10



[3#H]
1[ 4]
2[ 5]
3[ 3]
4 2]
[ 1]
[ 6]
[ 7]
[ 8]
[ 9]

(548]
10 1]
2[ 2]
3[ 4]
4[ 3]
5[ 9]
6 5]
7L 6]
[ 7]
[ 8]

(7%8]
1[ 5]
2[ 6]
3[ 8]
3[ 4]
50 7]
6[ 1]
7[ 3]
[ 2]
[ 9]
[9#8]
1[ 4]
2[ 5]
3[ 7]
4 6]
5[ 3]
6[ 2]
70 1]
8[ 9]
[ 8]

( -1.8 m)
76745 W B g 2 (KHEK-#5%)10.73
295 K R (JAWS-#%%)11.04
754/ 87 35 4 (KEK-HE)11.08
763 A E 3 (CKHE K- KPR)11.09
T3 A FF K 4 (BERELHE) Ri5
8044 T8 K 4 Ul K-B¥) Ri5
19K #y B AR 4 (RIEK-8 %) Ri5
549 FH WS b Ay 4 CEFRER-BE) Ri5
7583 % b 4 (KEK-55E) Ri5
( -0.1 m)
76208 0 A1 K 3 (RHK-£7%)10. 94
756 E A & KEH 4 (R %38) 10. 96
7614 2 K Ly 3 (REK-FH)11.15
2577% E8 A3 GRRK-#HE)11.26
14044 3R 8 A 4 (BWTHK-5E) 11,28
548 Kk B ZFE L (rinediblete®) 11. 28
7997 B BE 1 R R-#4)1) 11, 29
75515 16 E th 4 (KK L) Ri5
18973 J/ & K 1 (BBiak-#1R) Ri5
( -2.8 m)
2078 W SR 3 (B R 5E) 11,09
118 )1 Bokd 4 (BRia k- d6iEE) 11,13
365/ Ak B8RP (MEKAC-HE)T11.32
Q4975 JF K FH 3 (R - B E)11.32
950 %% J5l Al K3 (BERE-%E)11.35
2084 A K FH 3 (Ewfikm-%E)11. 36
1857 ] 22 w5 4 (BBWH k-2 11. 39
1930 % & Z= 4 (BB k-#H) Ri5
977 B B (RIERER-5E) Rig
( -2.8 m)
552 & i SF 4 (BERK-HE)11.28
NTK &% 582 GEKR HR)11. 41
80744 VA FE - 1 (W K- E) 11. 60
149/ £ 1 (BWHK-HE) 11,68
19445 £ E AN 2 BBTa k- i) 11, 71
783K & ®H B 4 ORE K- dimE) 1. 87
906k Hl i HE 3 (BEEK-BEME)11.98
17308 %5 5% K2 (BRfHK-5%)12.20
6495 1B %2 CEEK-BE) ]IS

(1148 ¢ -1.4 m)

1[ 9]
2[ 7]
3[ 6]
41 8]
5[ 2]
6 1]
[ 3]
[ 4]
[ 5]
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28 5 2 (REK-HA)11. 44
— fiF 2 GERK-#EI)11. 48
¥ 2 (BBia K- K%) 11,51
fig K1 CEEK-#%E)11.55
K2 (BEK-EE)11.82
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150FF b 40 ¥ 4 (BB KL E) Ri5
123/ B 23 3 (Bia kA RiG
386E E Ik (ASAP-HE)RIBE

[4%8])
1[0 7]
2[ 3]
3[ 5]
47 1]
5[0 2]
6[ 8]
[ 4]
[ 6]
[ 9]
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1[ 6]
2[ 4]
3[ 3]
4[ 2]
5[ 8]
[ 1]
[ 5]
[ 7]
[ 9]
(8#H])
1[ 9]
2[ 5]
3[ 1]
4[ 4]
5[ 8]
[ 2]
[ 3]
[ 6]
[ 7]
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10 4]
2[ 7]
3[ 1]
4[ 9]
5[ 2]
6[ 5]
[ 3]
[ 6]
[ 8]
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1[ 8]
2[ 7]
3[ 4]
41 6]
5[ 9]
6 2]
70 5]

[ 1]

[ 3]

( -1.6 m)

1397 Bk K 5 2 (BBa k- 10. 92
7047 % BE K (JAWS-%%)11.00
13258 N 5% & 2 (BEAk-#if) 11. 06
197 FEREIRR RAEE 1 GakPE K- ) 11. 23

624 A =3 (IBHEE HE)11.27

23F K 31 (K- 11,39

20K # N 3 (B R -BER) Ri5
13652 (L k7 2 (BEA K- 5 Ri5
809 B KA 4 (k- B RiG
( +0.3 m)

24100 B & K5 1 (B KR-BER) 11,05
39975 #k & (UNITE-%%)11.13
16014 ~ K5 1 BIAK-EE)11.14
1927 B #E & 2 BEAk-K2)11.25
168%] 5% &t 1 (WA k-Em)11.53
1841% ik M K 4 (BEAK- T3 Ri5
7748 B 2 dk 1 (KREK-EY) Ri5
15418 )1 K& 1 GEak-a)l) Ri5
1520 f&  HE R (BRRIEAC-BER) Ri5
( -2.5 m)

7864 Ak A K 4 (K- #R) 11, 32
550 1% M ofE B 4 (EEHEKHE)11.36
1835 H P EX 3 (BB[AK-##i)11.55
879/ SR 5L & 3 (ERERA-HE)11.56
T9TE I RAE2 GRIER-HE)11.75
1807 N BEA (STF-HE)RIG

133/ R 2 1 BBiak-BEE) Ri5

7169 T fE  HE 1 (KEK-#E)RS5

27/ H fF/A2 (KEmE-BE) RS

-1.9 m)

439FF B 3 (REEm-BE)11.36
66617 B FH] A 2 (REF—fF-%E)11.40
3855 A gL Hf (ASAP-%%)11.51
68155 KBS (BloomP]T5E)11. 68
905%8 I 1< I 5 (RERK-BERE)11.83
21088 B K 2 (EwERs-5E)11. 88
978K JH ¥R fd 3 (ERTRE-HE) Ri5F

55140 I RE Fl 4 (BFRK-HE) KRG

64545 M Bl E 2 CEEK-BE) Ri5

-1.0 m)

591 )&\ fi] & Bk 1 (KEHE-%E)11.20
1963 mEE 1 Gl TE)11.40
QMO BN 3 (FAE - E)11.48
822/N B BE Ay 2 (RR#E-#E)11.52
6831% ik B % 3 (KEREHA HE)11.55
56411 O Fj -3 (KEHE-HE)11.64
MTH 5 e GEEFEH-H%E)11.92
1374 87 i K 2 (BEA K- 3 Ri5

43740 # - K3 & - E) R



(13#8] (

1[ 9]
2[ 6]
3[ 3]
41 1]
5[ 4]
6[ 7]
7 8]
[ 2]
[ 5]

(1548] (

1[ 4]
2[ 9]
3[ 5]
41 7]
5[ 2]
6 6]
1[0 8]
[ 1]
[ 3]

0.2 m)

1258 = & 3+ 4 (BEWHK-5E)11.19
2128 & B2 (EERs-%5E)11.36
90811 A K HE6 (REBA-EEHG)11. 46
596 % M 7 1 (KEHE -HE)11.47
N A 22 (IgKE 511,47
2199 & F K 2 (Eikm-5E) 11, 47
256 % M ¢ M 4 (PR K- E)11.50
80y &)1l ZRlE 2 (IBH S HE) Ri5
B4 fF— (O)-20 0 5E) Rig
+1.4 m)

M7 )11 K 2 (R - E)11. 28
157HE A 1 OBE 3 (BRHK-#E)11.37
597/NAfR &S (BAEREZ-HE) 11,41
582 i HH 1“’3 2 (KEHE HE)11.46
828t A G2 (RAHE-%E)11.68
951 K iR B%it?) (e H-HiE)11.70
668/N Il 2= 3b 2 (KEF—&-%E)11.72
127 65 2 Ay 2 (%ﬂ“j: HE) Ri5
83 B v oK (FiferACHE) RiH

(17481 ¢ -1.4 m)

1[ 1]
2[ 7]
3[ 4]
4[ 5]
5[ 3]
6[ 8]
70 2]
8[ 6]
9[ 9]

(1948] (

1[ 5]
2[ 6]
3[ 2]
41 1]
5[ 4]
60 3]
70 7]
8[ 8]

[ 9]

5811 Bf
57744 Hb
4007

B k2 (KEHE-HE)11.70
fER2 (REA& %E)11.88
% H (UNITE-%%E)11.92
138 A P2 Biak-EE)11.94
8190 & 18 N 2 CRH#E -%E)11.95
365 A A 1z KER 3 (LR - #$)12. 02
5451 & EH 2 (EEBfEE-5E)12.06
3987k & ks 1 (RAEEE-5E)12. 11
984+ & W A 2 (REAHE-HE)12.12
+0.6 m)
=2 (REH& -HE)11.68
LR 2 (REE—E-%E)11.68
Tl 2 (RERE -5 )11, 89
AL (RS -5E)11.95
E 7 2 (EfExaE %% 11.99
f&jtl (EmefizRm-%%)12. 15
H 4 BBak-T3)12.18
15 %1 (Temeli s #5%)12. 50
KB 1 (EREREHE) RIS

5861 4+
669 K %
961 % [
367/ iR
21485 1%
2300 %
1741 1
222 K 5
223 H

(2148 (. -2.1 m)

1[ 5]
2[ 6]
3[ 4]
41 2]
5[0 1]
6 8]
70 9]
8[ 3]
9[ 7]

7545 o FE 2 (IS HE)11.96
670%3Ri =/ v/ 1 (KEF—R-%%)12.04
987 M v 3 th 3 (FEHLEHE)12.15

69, ] B8 M 3 (JIEHE-#E)12.19

6475 U K A3 (B E-#E)12. 23
9597E H  BH B 2 (R E-#E)12.35
9631 111 JE &2 (RERE-BE)12. 41
671M & # = 1 (KEF—F-%%)12. 66
MAEE W 6 TR 2 (e B ) 13. 46

(1448] (

1[ 4]
2[ 3]
3[ 2]
4[ 5]
50 9]
6 7]
[ 6]
[ 8]
[ 1]

(1648] (

1[ 8]
2[ 5]
3[ 1]
4[ 9]
5[ 3]
6 4]
10 2]

[ 7]

[ 6]

(18#8] (

1[ 5]
2[ 4]
3[ 8]
4[ 1]
5[ 6]
6[ 3]
70 9]

[ 2]

[ 7]

+1.7 m)
1958 | % b2 BBWAk-#Hx) 11,36
622F% A ¥ 3 GHERS-BE)11.39
44815 e Th2 (R -#E)11.42
M8 R A 3 (KE®-HE)11.54
881 F1 JF & 2 (HlE¥hF-wE)11.54
M8 2 K A1 (BEAE £5E)12.40
1765 - # 3} 3 (BBiE K- 5E) RIS
206 %7 ¥ P K3 (ERERE -5 ) K5
188 5 m[¥E KM 1 (BRI k- T4) Ki5
+0.5 m)
v M A3 (MEFK-HE)11.45
81— J %Jrl (I %) 11. 55
3904 B = BEER-5E)11.57
43545 4% FRIk (7)-2845%E)11.58
2318 & 6 A 1 (EwEEE-%5%)11.70
670 5 1 A 3 (MBS HE)11. 83
969%E T Kk &3 (RAHE -8 E)12.07
9581 B 2 <ﬁ%\% B E) K%
543 1 BEVRER 3 GEEEEE 5 E) Ri5
-0.6 m)
585 K & #hi A 2 (KEHA-HE)11.T
507 E4l B0 3 (FA—E B E)11. 81
5754« B R 2 <ﬁ:”§%ﬁ #%%E)11.86
901287 /4 BE M 2 (RAE-HE)11.87
428K (L & 52 2 ﬁ@m #%E)11. 88
445 4% U 2 (e B E)12.04
506 K g H M 3 (BA—F-%E)12.06
450 MBIk 2 (RE @ -8 E) R
667 11 &t Mt 2 KEF—8-5E) KRB

[2048] (  -2.2 m)

1[ 6]
20 1]
3[ 5]
41 3]
5[ 8]
6 4]
71 2]
8l 9]
9[ 7]

(22781 (

1[ 5]
2[ 9]
3[ 8]
47 1]
5[ 6]
6 4]
10 2]
8[ 7]

[ 3]

749/ #k
173% ik
828 W

fdt 2 GERmE-BE)11.89
B2 (IBE -5 E)11. 97
Bl 1 IR E -5 £) 12. 06

71976 W E 2 (IEEE%E)12.09
M— £ - A3 GELE 5E)12.09
T4 W 78 e 3 (BIBREL-#0)12. 09
S12KE Fav it 2 (FA—F - E)12. 21
569/ B A HE 3 (KEHE % E)12.25
566 4 A M K3 (REHE -%%)12.35
-0.3 m)

68 - ;L — H 3 (& %) 12. 07
6881%= E  FH 1 (REREHA5E)12.10
592/ 7 B N1 (RERE %E)12.16

T3MT H %E k2 (IR %) 12, 31
514 b BE—B8 1 (GERE -5 )12, 42
821/)n H /%Hﬁ;z (BAE %) 12.65
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